2.

H £ 48 (20%, 5% for each question)

( ) Which of the following processes are never spontaneous:. A reaction that
occurs with (A) any size decrease in enthalpy and any size increase in entropy ;
(B) asmall increase in enthalpy and alarge increasein entropy ; (C) alarge
decrease in enthalpy and asmall decrease in entropy ; (D) any sizeincreasein
enthal py and any size decrease in entropy.

( ) Which one of the following is the largest force governing protein
structure (A) disulfide bond; (B) hydrophobic effect; (C) ionicinteraction; (D)
hydrogen bond.

( ) Theinhibition in which inhibitor is a substance that directly competes
with asubstrate for binding site reversibly is: (A) noncompetitive inhibition.; (B)
uncompetitive inhibition.; (C) completeinhibition.; (D) competitive inhibition.

( ) An enzyme that transfers a phosphoryl group from ATP (or other
nucleotides) to another substrate is a/an (A) phosphatase ; (B) kinase ; (C)
phosphoglucoseisomerase ; (D) ATPase.

j2f &3t (10%, 5% for each term)
hydrophobic effect

chemiosmotic theory

i % %2 (20%, 10% for each question)
Many chemical reactions within living organisms have positive  G° values, i.e.
that they can’t proceed spontaneously under the physiological conditions. Under
this circumstance, how do living organisms “force” these reactions to proceed as
required? (10%)

A solution is made by mixing 50 ml of 2.0 M K,HPO, and 25 ml of 2.0 M
KH,PO,. The solution is diluted to afinal volume of 200 ml. What is the final pH
of the solution? (pK = 6.82 for KH,PO,) (10%)
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Met-Tyr-Asp-His-Phe-Trp
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2nd base in codon

UCH A|G

Phe | Ser Tyr Cys
Phe | Ser Tyr Cys
Leu | Ser STOP | STOP
Leu | Ser STOP | Trp

Leu | Pro His Arg
Leu | Pro His Arg
Leu | Pro Gin Arg
Leu | Pro Gln Aryg
lle Thr | Ash Ser
lle Thr | Asn Ser
lle Thr | Lys Arg
Met Thr Lys Arg
Val Ala | Asp Gly
Val AMla [ Asp Gly
Val Ala Glu Gly
Val Ala Glu Gly

1st base in codon
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Integrating membrane proteins with signal anchor sequences

—l: N-terminus of slanal anchor sequence translocates }—
«

7. P 3 M TDNA R £ w4 F i (PCR, polymerase chain reaction)
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